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Extended Problems: Real-World Application
Whole Number Operations
 Solve.
 (3 points)

1. The Chung family is visiting Wacky World Water Park on their vacation. Kai Chung and his sister Taya count the people waiting in line for the Twisted Tube Water Ride. Kai skip-counts by multiples of 4 to count the people. Taya skip-counts by multiples to 6 to count the same number of people. Kai says that he used fewer multiples to count up to 36 than Taya did.
(a)  Is Kai’s statement correct?
(b)  Explain why Kai would use more or fewer multiples than Taya used to count up to the same number.
 (3 points)
2. Each visitor at the Wacky World Water Park gets a free towel to use at the park. At the entrance, workers arrange the towels in stacks with the same number of towels in each stack. Each stack must have more than 1 towel and there must be more than 1 stack of towels. 

Which of these numbers of towels could be arranged into more than 1 stack with the same number of towels in each stack? Each stack must have more than 1 towel. Explain why this arrangement is possible or not possible for each of these numbers of towels.
60     29     37     42
(4 points)
3. The water park has trolley cars that visitors use to ride throughout the park. The total number of people that all the cars can hold is greater than 480 and less than 500 people.

(a)  What is a possible number of trolley cars in the park and a possible number of people in each car if all the cars are being used? Each car has the same number of people. Both the number of trolley cars and the number of people in each car must have two digits and be less than 30.
(b)  Explain how you found your answer.
(c)  What is another solution for the problem in Part (a)?

(3 points)
4. There are 15 rafts available for people to use on the Adventure River Ride. Each raft holds 12 people. The park runs this ride 3 times each hour. How many people can ride the Wild River Ride in 1 hour if all of the rafts are used and each raft is full?
(a)  Write the equations you can use to solve the problem. Use letter symbols to represent unknown numbers in each equation.
(b)  Solve the problem.
(3 points)
5. The water park says it has 2 times as many giant inner tubes as water sprinklers and 4 times as many sprinklers as water slides. The park has 16 water slides.
(a)  How many giant inner tubes does the water park have?
(b)  Explain how you found your answer.
(4 points)
6. 141  ÷ 6

(a)
 Write a story problem that matches this expression.

(b)
 Solve the problem. 

(c)
 Does the quotient in your problem have a remainder? If it does, explain what you did with the remainder when you solved the problem.
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